
Paralleltism and Concurrency
Parallellism: Evaluate on multiple processons to speed up computation
Concurrency: Use multiple threads shoring resources (may/may not be pralled)
e | elle
Step: Prezz
e, ei
Freillez 4x2
eillez eller
e2+7e2!
eillez meillez
"interleaving"
C. val eval
ellez   Ceed
Why not
eHei
ez-le'
- ?
eillez ei'ller!
1+2 113+4 + 311 3+4 3117
1+2117 +7 3/17
> Same answer!
Calways true for STLC)
Cztv2
-
el v..
Cillez (v., V2)
"Nested" parallellism
Can't capture diff. interleavings but that's ok.
fix fib-n. if ns) then n
else
let
p=
•fib (n-1) || fib (n-2)
"(Est p) + (and p).



What about IMP?
>=x=elif
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then selse s fil while e do sod.
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(skip skip, σ> <Skip, σ>
(x==x+||| x==x+2, {x=1}> * <skip || x=x+2, {x=2}> <skip, {x=4}>
**{x:=x+|||skip, &{ x=2>*<skip, {x=3}>
Except there are also more!
>> \X:=T+T|| x== x*2, {x=1}>
>> <x:= Trill x: = 1 +Σ, {x=1}
xx:= 2x=2, {x=1}>
1>*<skip, {x2})
>!
while x do skip od) || x:= 1, {x=0}>
while
·x do skip od 11 stip, {x=1}>
++*<skip, {X=1}>
or Ht...
(forever)
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